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HE CODE PROGRAM

#include <LiquidCrystal.h<

LiquidCrystal lcd(51,49,47,45,43,41;(
int val;

int xy; //1dr (light sensor(
int aa= 6; //buzzer

int sensorvalue3, sensorvalue2, sensorvaluel;



int tempPin = AS; //Im35

int reading; //for Im35

float voltage; //for Im35

float temperatureC;  //for Im35

int ps1, ps2, ps3, eps; //ir sensors
int decO; //keypad
int decl; //keypad
int dec2; //keypad
int dec3; //keypad
int dec4; //keypad
int dec5; //keypad
int dec6; //keypad
int dec7; //keypad
int dec8; //keypad

int dec9; //keypad



int dec10; //keypad

int dec12; //keypad
int deca; //keypad
int decb; //keypad
int decc; //keypad
int decd; //keypad

void setup} ()

pinMode(aa,OUTPUT); //buzzer

pinMode(5,0UTPUT;(

lcd.begin(20, 4); //lcd 20x4

Serial.begin(9600;(

pinMode(29,0UTPUT) ; //keypad

pinMode(33,0UTPUT); //keypad

pinMode(35,0UTPUT); //keypad



pinMode(37,0UTPUT); //keypad

pinMode(25,INPUT); //keypad
pinMode(27,INPUT); //keypad
pinMode(31,INPUT); //keypad
pinMode(39,INPUT); //keypad
pinMode(44,0UTPUT); //blue rgb
pinMode(40,0UTPUT); //red rgb
pinMode(42,0UTPUT); //green rgb

pinMode(53,0UTPUT;(

void loop} ()

***********************************************************************************************//

*sensors

aa: val = analogRead(tempPin); //for Im35



float mv = ( val/1024.0)*5000;

float cel = mv/10; // Im35 to celsus

float farh = (cel*9)/5 + 32; // Im35 to Fahrenheit
int x1 = analogRead(A0); //flame sensor

int x2 = analogRead(A1); //flame sensor

int x3 = analogRead(A2); //flame sensor

int x4 = analogRead(A3); //flame sensor

int x5 = analogRead(A4); //flame sensor

xy=analogRead(A10); //Idr light sensor

sensorvalue3=analogRead(A12); //ir sensor

sensorvalue2=analogRead(A13); //ir sensor

sensorvaluel=analogRead(A14); //ir sensor

***********************************************************************************************//

kkkkkkhkhkkhkk

¥/

Serial.printIn(x1;(



Serial.printIn(x2;(

Serial.printIn(x3;(

Serial.printIn(x4;(

Serial.printIn(x5;(

/*

***********************************************************************************************//

*kkkkkhkhkkkhkkhkhkhkhkhhkhhhkhhhhrhhrhhkhhkhrhkhrhhkhhrkhhhkhrhhrhhkx:

ir sensor reading

if(sensorvalue1<40&&sensorvalue2<40&&sensorvalue3<40)//ir sensor reading for an full
parking place

}digitalWrite(44,1;(

digitalWrite(40,0;(

digitalWrite(42,1{;(

if(sensorvalue1>40]| |sensorvalue2>40| | sensorvalue3>40)//ir sensors reading for empty
parking places

}digitalWrite(44,1;(

digitalWrite(40,1;(



digitalWrite(42,0{;(

if(sensorvalue1<39){ps1=0{;

if(sensorvalue2<39){ps2=0{;

if(sensorvalue3<39){ps3=0{;

if(sensorvalue1>40){ps1=1{;

if(sensorvalue2>40){ps2=1{;

if(sensorvalue3>40){ps3=1{;

eps=psl+ps2+ps3; //reading for how much empty parking places

***********************************************************************************************//

kkkkkkhkkhkhkkhhkkhkkhkhhkkhhkhkkhkkhkkhhkkhkhkhhkhkkkkkhkkx

***********************************************************************************************//

*************************************************flame sensor if there iS fire



if(x1>400 | | x2>400 | | x3>400 | | x4>400 | | x5>400(

digitalWrite(6,1;(

delay(500;(

digitalWrite(6,0;(

delay(500;(

if(x1>400 | | x2>400 | | x3>400 | | x4>400 | | x5>400(

Icd.setCursor(0, 0;(



lcd.print("danger stay away;("

Icd.setCursor(0, 1;(

Icd.print("fire dont enter;("

Icd.setCursor(0, 2;(

Icd.print("fire dont enter;("

Icd.setCursor(0, 3;(

Icd.print("fire dont enter;("

***********************************************************************************************//

kkkkkkkkkkkkhhkhkkhkkhhkkhhkhkkhkkhkkkkkkkk



***********************************************************************************************//

kkkkkkhkkkkkkkhkhkkkkhkhkkkkhhkhkhkkkkhkhkkkkkkk

temperture lcd

else}

digitalWrite(6,0;(

Icd.clear;()

¥/

Serial.print("TEMPRATURE;(" =

Serial.print(cel;(

Serial.print("*C;("

Serial.println;()

/*

Icd.setCursor(0, 1;(

lcd.print(farh;(

Icd.setCursor(6, 1;(

led.print("[F;("[



Icd.setCursor(0,2;(

Icd.print(cel;(

lcd.setCursor(5,2;(

led.print("[C;("[

***********************************************************************************************//

*kkk

***********************************************************************************************//

*kkk

empty solts

Icd.setCursor(0,0;(

Icd.print("Empty Solts;(":

Icd.setCursor(12,0;(

Icd.print(eps;(

***********************************************************************************************//

kkkkkkkkkkkkhkkhkkhkkk

Icd.setCursor(0,3;(



lcd.print("press # to put code;("

delay(1000;(

***********************************************************************************************//

*******************l |ght sensor

if (xy>161(

digitalWrite(53,HIGH;(

Serial.println(xy;(

else if (xy<160}(

digitalWrite(53,LOW;(

Serial.printIn(xy;(

delay(1000;(



***********************************************************************************************//

*kkkkkkkkkkhkk

***********************************************************************************************//

*********keypad

digitalWrite(29,1;(

decl =digitalRead(39;(

dec4 =digitalRead(25;(

dec7 =digitalRead(27;(

dec10 =digitalRead(31;(

digitalWrite(29,0;(

digitalWrite(33,1;(



dec2 =digitalRead(39;(

dec5 =digitalRead(25;(

dec8 =digitalRead(27;(

decO =digitalRead(31;(

digitalWrite(33,0;(

digitalWrite(35,1;(

dec3 =digitalRead(39;(

dec6 =digitalRead(25;(

dec9 =digitalRead(27;(

dec12 =digitalRead(31;(

digitalWrite(35,0 ;(

digitalWrite(37,1;(

deca =digitalRead(39;(



decb =digitalRead(25;(

decc =digitalRead(27;(

decd =digitalRead(31;(

digitalWrite(37,0 ;(

if(dec12==1}

Icd.clear;()

Icd.setCursor(0, 0;(

"k

lcd.print("put the code then;(

Icd.setCursor(0, 1;(

while(1}(

digitalWrite(29,1;(

decl =digitalRead(39;(



dec4 =digitalRead(25;(

dec7 =digitalRead(27;(

dec10 =digitalRead(31;(

digitalWrite(29,0;(

digitalWrite(33,1;(

dec2 =digitalRead(39;(

dec5 =digitalRead(25;(

dec8 =digitalRead(27;(

decO =digitalRead(31;(

digitalWrite(33,0;(

digitalWrite(35,1;(

dec3 =digitalRead(39;(

dec6 =digitalRead(25;(



dec9 =digitalRead(27;(

dec12 =digitalRead(31;(

digitalWrite(35,0 ;(

digitalWrite(37,1;(

deca =digitalRead(39;(

decb =digitalRead(25;(

decc =digitalRead(27;(

decd =digitalRead(31;(

digitalWrite(37,0 ;(

if(decO==1)(

while(decO==1}(

digitalWrite(33,1;(

decO =digitalRead(31;(

digitalWrite(33,0;(



{ lcd.print("0{;("

if(decl==1}

while(decl==1}

digitalWrite(29,1;(

decl =digitalRead(39;(

digitalWrite(29,0;(

{led.print("1{;("

if(dec2==1}(

while(dec2==1}(

digitalWrite(33,1;(

dec2 =digitalRead(39;(

digitalWrite(33,0;(



{lcd.print("2{;("

if(dec3==1}

while(dec3==1}(

digitalWrite(35,1;(

dec3 =digitalRead(39;(

digitalWrite(35,0;(

{lcd.print("3{;("

if(decd==1}(

while(dec4==1}(

digitalWrite(29,1;(

decd =digitalRead(25;(

digitalWrite(29,0;(

{lcd.print("4{;("



if(dec5==1}

while(dec5==1}(

digitalWrite(33,1;(

dec5 =digitalRead(25;(

digitalWrite(33,0;(

{Icd.print("5{;("

if(dec6==1}(

while(dec6==1}(

digitalWrite(35,1;(

dec6 =digitalRead(25;(

digitalWrite(35,0;(

{lcd.print("6{;("



if(dec7==1}(

while(dec7==1}(

digitalWrite(29,1;(

dec7 =digitalRead(27;(

digitalWrite(29,0;(

{lcd.print("7{;("

if(dec8==1}(

while(dec8==1}(

digitalWrite(33,1;(

dec8 =digitalRead(27;(

digitalWrite(33,0;(

{lcd.print("8{;("

if(dec9==1}(



while(dec9==1}(

digitalWrite(35,1;(

dec9 =digitalRead(27;(

digitalWrite(35,0;(

{lcd.print("9{;("

if(dec10==1)(

while(dec10==1}

digitalWrite(29,1;(

dec10 =digitalRead(31;(

digitalWrite(29,0;(

{lcd.clear;()

lcd.print("please wait;("

delay(1000;(

goto aa;



if(dec12==1}

while(dec12==1}(

digitalWrite(35,1;(

dec12 =digitalRead(31;(

digitalWrite(35,0;(

{{

if(deca==1}(

while(deca==1}(

digitalWrite(37,1;(

deca =digitalRead(39;(

digitalWrite(37,0;(

{lcd.print("A{;("



if(decb==1}(

while(decb==1}

digitalWrite(37,1;(

decb =digitalRead(25;(

digitalWrite(37,0;(

{lcd.print("B{;("

if(decc==1}(

while(decc==1}(

digitalWrite(37,1;(

decc =digitalRead(27;(

digitalWrite(37,0;(

{lcd.print("C{;("



if(dec7==1}(

while(dec7==1}(

digitalWrite(29,1;(

dec7 =digitalRead(27;(

digitalWrite(29,0;(

{lcd.print("7{;("

if(decd==1}(

while(decd==1}(

digitalWrite(37,1;(

decd =digitalRead(31;(

digitalWrite(37,0;(

{lcd.print("D{;("

{{
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